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8:45~9:00 15 = s
9:00~9:05 5 ZEGBERUERE EEREHNEME
9:05~9:55 50 BEEBEEHFHEOHEIZDNT EERMEMNE
EREREBHEORINEEFICTONT
9:55~10:05 10 ﬁt A8
10:05~10:40 35 EEEEFORILELEEEIZIONT EERTEME
BHEORBEREIZTONT DVD
10:40~10:50 10 * 2
10:50~11:50 60 BEEEICEADLAEREZHICONT EERMEME
EMEBLEEFEESICONT
MENTRAEHE(EHEH BHEERER)
11:50~12:00 10 & TBRER A EERMEME
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13:15~13:30 15 = fF
13:30~13:35 5 ZEGPRUVEE EERWNEME
13:35~14:25 50 EREEEEFEOHREICTONT EERNTEME
BESEHEODRILEEFITONT
14:25~14:35 10 o |
14:35~15:10 35 BEEEEEORINEEFITONT EEEMEMNE
BHEOARZEERKIZOLNT DVD
15:10~15:20 10 & 28
15:20~16:20 60 BEEEICALAEHSHIZTONT EEEMEME
EMEBEEEFRESRSITONT
MEODTRAEHE(EE BHCER)
16:20~16:30 10 ETERERT EERMTEME




